Topic: Inequalities
Time: 10min

Paper-Maker NishaNegi

Directions (1-5): In this question, relationship between different elements is shown in the
statements. The statements are followed by conclusions. Study the conclusions based on
the given statement and select the appropriate answer.
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Q1. %Y :
L=P<W<V<Kz2Q;B<L;K=M
e

[. B<V
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(a) Fad A=y | a7 §

(b) Fae e || a7
(QaTar A= ATl FT §
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Q2. Y
L=P<W<V<K=2Q;B<L;K=M
IGACOE

LL=Q

I[.W=M

(a) Fad Ay | a7 §

(b) Fae e || a7
(QaTar A= ATl F T §
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(e)Far AT |7l a8
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Q3. e
R<U=B<S§;B<X
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[.X>R

I. X=R

(a) Faet o | /e 2



(b) Fae e || a7
(QaTar A=y ATl J T §
(d) =TT A | 3w [l 97 §
(e)Far AT |7l a7 8
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Q4. I
C>U<S<T=0>D=2Y;Z=0<P
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LU>D
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(a) 3er Foreaet | 7o &

(b) Fae e || 97
(c)arar Ao | a7l I 8
(d) =TT Ao | 3w [l 97 §
(e)Fa A= |FET Il aT 5
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Q5. Y
C>U<S<T=0>D2Y;Z=0<P
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(a) ¥t P | rer 2

(b) Fae faewd || T 8
(c)arar Ao | a7l I §
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Directions (6-10): s= o 1w weri # g 1w ot & fRafSre acai & wex deier qaiar m@w . 39
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A#B FT 19 A, B & F=T AT 3H% aUa¥ Al @

A%B FT AT A, B A GleT 81

A$B FT 37 A, B & a1 AT 39 a6 A5l ©

A&B FT 37 A, B & =T a7 39 BT Aal ©

Q6. FIT:C%DSE&M#] &L
fArepd:



LLS$E

ILC%]

(a) 1% 3ot ot | T 3,

(b) % et Fremed 11 e 2.

(c) =z =7 a1 fA | =7 |l 77 2.

(afcaaT =T a7 8.
(e) =t =T fAehT | 3w || e 2.
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Q7.FITP&N@QSR$T&S
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(a) (3 Faa Fwd | 97 8.

(b) =fE Fae Aoy |l a7 2.

(c) Tt =T qT A | 47 || |7 &,
(d) T qr Ao | T2 1 77 2.
(e) =t =T fAehT | 3% || e 2.
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R

IM@]

ILVS$P

(a) 7 ¥t Froe | T 3,

(b) % 3per et 1) 7 2.

(c) =z =7 a1 fA | =7 |l 77 2.

(d) afz T qr Ao | T2 1 77 &
(e) =t =T fAehT | 3w || e 2.
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Q.FITM@X@E$F&D#0
Ao

LD$M

ILF@M

(a) =fx Faer Aewd | 97 2.

(b) =t Faer Aoy || 7 2.

(c) Tt =T T A | 47 |l |7 &,
(d) afz T a1 Ao | T2 1 77 &
(e) =t =T fAehT | 37 || |7 2.
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QIO.FIT: E@F&D#0%KS$G
IRk F

LO#E

ILG%F

(a) aT% Fae Fewd | 7 2.

(b) =% Fae e || 97 5.

(c) Tt =T T A | 47 |l |7 &,
(d) afx T qr Ao | T2 1 77 2.
(e) Tt T=T Ao | 3% Il 97 &.
L1Difficulty 3

QTagslnequalities Reasoning

Directions (11-15): #= fRT 1 Wi # fATSr=r qcat & Wer |aer il ILqTAT T 8. I FAAT 6 A
Aerd fiw 1 §. et e sratiRa Aewet Y eamgE s 9T 3R 9Et ST E 99 Fio. 3K
-

(a) =f% Faer R | a7 &

(b) =tz Faet Aoy Il 77 g

() Tz =T Rt | sfm ll a7 §

(aRarar g ATl g 8

(e)afRaaT AT IagT T g

Q11. =Y=:

J]<0=B>M, A>Q<], IsM.
e

[. A>M

I1. O>1
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Q12.hd:

S<Z, R=C<Z, Q>S, C>K.
IGACOE

I. R>Q

II. K<R
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Q13. FI:
Q>M, J=R, J<Q>S<A
IGLEA P



I. R>M

II. RsM
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Q14. HY=:

D=M>N, Z>D>R, A>C<R
e

[. N<Z

II. C<D
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Q15. &Y:

A>R, J<A, B>T=R

ey

I. B<R

II.J>R
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Solutions (1-5):
S1. Ans.(d)
S2. Ans.(e)
S3. Ans.(c)
S4. Ans.(b)
S5. Ans. (a)

Solution (6-10):
S6. Ans.(a)

Sol. LL$E (true) 11 C % J(false)

S7. Ans.(b)

Sol. I. N % S(false) II. P @ Q(true)

S8. Ans.(a)

Sol. .M @ J(true) II.V $ P(false)

S9. Ans. (¢)

Sol.I.D $ M (false) II. F @ M(false)

As D=F

Solutions



S10. Ans.(d)
Sol. I. O # E(false) I1. G % F(false)

Solution (11-15):
S11. Ans.(b)
Sol. I. A>M (False) II. O>I (True)

S12. Ans.(b)
Sol. I. R>Q (False) II. K<R (True)

S13. Ans.(d)
Sol. I. R>M (False) II. R<M (False)

S14. Ans.(c)
Sol. . N<Z (True) II.C<D (True)

S15. Ans.(e)
Sol. I. B<R (False) II.J>R (False)



